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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper
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QL. Discuss the various land reforms undertaken by the Indian government. What are the

causes of unsatisfactory progress of these land reforms?
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Q2. Explain the structure, growth and economic characteristics of small scale industries in

India.
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Q3. Examine the composition and direction of foreign trade in India. Discuss recent

policy measures taken by the government of India as a part of its foreign trade policy.
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Q4. Explain the concept of food security system. What are the flaws in Indian food
security programme? What policy measures have been undertaken by the government to

ensure food security for all?
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Q5. What do you mean by Foreign Direct Investment? Briefly discuss the FDI policy and

its performances in India.
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Q.6. Write short notes on any two of the following:

a) Productivity of the Indian agriculture sector
b) Agricultural marketing

c) Deficit in the Indian Balance of Trade

d) New Industrial Policy of India, 1991
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